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401 AIEHI L 2T bl 23,297 0 23,297
2 16,308
2 6,989
01 Al Hl 23,297 0 23,297
ORE22AMYE 2|28 23,297,00094 23,297
2 16,308
2 6,989
NEXEHE 25 X8 21,000 21,000 0
= 8,400
2 12,600
307 £I2+0| & 21,000 21,000 0
= 8,400
2 12,600
INEEL N EEES 21,000 21,000 0
ONEANY BH5 =7 AGH N
21,000,002 21,000
= 8,400
2 12,600
SYINSEFAMY XN (BYIISSHI) 16,953 8,493 A1,540
2 3,562
2 3,391
301 YA 16,953 18,493 A1,540
2 3,562
2 3,391
NP EEEPE! 16,953 8,493 A 1,540
22520l Y= £3NY LLSXA(3YI
SEEND 16,953,002 16,953
= 13,562
2 3,391
SYINSEFAMY KB (BYINSSHII) 51,457 129,982 AT8,525
2 42,195
= 9,262
301 YR A2 51,457 129,982 AT8,525
2 42,195
= 9,262
NP EEEPE! 51,457 129,982 A78,525
225200 Y= £3NY LLSXA(3YI
SEEND 51,457,0002 51,457
2 42,195
= 9,262




2A: FUXE
My 20| EMBEE
CHl: X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SIAISESEHAY XN (HESUISESE) 21,522 11,190 10,332
= 17,218
& 1,291
= 3,013
301 LBt A= 21,522 11,190 10,332
= 17,218
= 1,291
= 3,013
01 AR E & A 462 21,522 11,190 10,332
O22sE0| JUs =249 €43 XN (HFdE3
UINSEZ) 21,522,000 21,522
= 17,218
& 1,291
= 3,013
HWelssEAE X 13,613 10,633 2,980
= 10,890
= 2,723
301 LBt A= 13,613 10,633 2,980
= 10,890
= 2,723
01 Al E & A 452 13,613 10,633 2,980
OZRsEE0 Us =29 @S2 X (LHYI
SEH) 13,613,000& 13,613
= 10,890
= 2,723
NEXNESEAS AHIAE XA (DFAF2EE B2 22| A 62,351 50,000 12,351
X ALY)
g 43,645
& 5,612
= 13,094
308 XAXIGHHM SO0l & 62,351 0 62,351
Fag 43,645
& 5,612
= 13,094
10 B 2SO USE AN E AIS Y 62,351 0 62,351
OJIAIHY et2 22| Al X A
62,351,000 62,351
Fag 43,645
& 5,612
= 13,094
SHXNGXNEHE SAN HAMA 6,000 0 6,000
307 2izto| A 6,000 0 6,000
11T A EXAIEEX 6,000 0 6,000
OSHEXNGNELEH SAX HIHAHI
100,000€ = 5% x 12& 6,000
FAHES SNAE 16,760,006 16,268,217 491,789
= 9,777,762




AN FUAX B
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 7,475,260
s 5,506,984
A =XSE 16,760,006 16,268,217 491,789
= 9,777,762
< 1,475,260
s 5,506,984
ol 2K 23,522 22,922 600
201 £B-2dH| 12,102 12,102 0
01 At 22l 12,102 12,102 0
OZMAHRFE Let=ZH| 700,000& 700
(OF SV ReIDNE=DNREDNDN S 1,100& * 2,6000H 2,860
ONECZSHE oot 228
4,000& = 50004 2,000
OXFMAXNSXAHEXN ReIEHDLR M
1,000& * 1,5000H 1,500
OZMA=RIIE BISHI 3,220 = 1,1000H 3,542
O 2dE RIX &IHH= 1,000
-ZHORQl EAH(ZOHQI Sl < EXIEOIS YA
HHM=cHal) 1,000,000& 1,000
OZOQ MSE2EF OFZEALE &X
5,000& = 1009H 500
202 44l 10,120 9,520 600
01 = LH A HI 10,120 9,520 600
OZMXNE 2= ol 10,120,000& 10,120
303 22 1,300 1,300 0
01 243 1,300 1,300 0
OZSTHMHAMMET U7 =2 AY 1,300
X R 300,000& = 22 M 600
-2 = 200,000& » 22 M 400
-& d 100,000& * 32 A 300
o=l 103,070 51,843 51,227
= 82,456
< 14,430
s 6,184
308 XXl &t HIS 0l & 103,070 51,843 51,227
2 82,456
< 14,430
s 6,184
1037/ 2S0HUHeEHEAEALS I 103,070 51,843 51,227
O&oere=zdl XI& 103,070, 000& 103,070
= 82,456
= 14,430
e 6,184
ZOHAEE R 2 4,387 4,387 0




SA: =0

N
Ho: o)
(9]

AAHES 2NN
Sl BOHAUSNSA CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 3,509
< 615
= 263
301 et d = 4,387 4,387 0
= 3,509
< 615
s 263
01 MEIBEZE+05l= 4,387 4,387 0
OZOMAMEE X2 4,387,000 4,387
= 3,509
< 615
s 263
FUSSHMNE2YE 6,600 6,600 0
= 3,300
< 2,310
s 990
301 et A=z 6,600 6,600 0
= 3,300
< 2,310
[ia 990
01 AR 2Z A 53 6,600 6,600 0
OMASZOC AEH L HAHl X &
6,600,000 6,600
= 3,300
< 2,310
[ia 990
ZoHoILRiel NAAG (Lt dXtel) 446,204 312,844 133,360
= 223,102
< 66,931
s 156,171
101 @124l 446,204 312,844 133,360
= 223,102
< 66,931
[ia 156,171
04 JI12ZtHZ22HEE = 446,204 312,844 133,360
OXZOMeIYRtel XNAAS (LersdXtel)
446,204,000 446,204
= 223,102
< 66,931
[ia 156,171
ZoNord Riel XA (AlIZERI Xiel) 49,606 44,716 4,890
= 24,803
< 7,441
s 17,362
101 @124l 49,606 44,716 4,890
= 24,803
< 7,441
[ia 17,362




SN FX
Ha: F o
el Zoje

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

04 JIZtHZ22 s+ 49,606 44,716 4,890
OFOHA L Xtel KA (AR L Xtel)
49,606,000 49,606

24,803
7,441
17,362

Mo H

oL Xtel NEAS (SXLXtel) 140,452 126,720 13,732
70,226
21,068
49,158

MW

307 21201 & 140,452 126,720 13,732
70,226
21,068
49,158

Mo H

A S XA E X 140,452 0 140,452
OFENWE =sXLXelAd 70,226,000& 70,226
35,113

10,534
24,579

U R I

®
Jm
1
EJ
50
|
Jt
il
e
=
og

27 LK 2 ALY

70,226,000 70,226
35,113
10,534
24,579

HoH W

FOAHNF=AIE 2SR 6,772,608 7,066,530 N 293,922
4,740,826

609,535
1,422,247

HoH W

301 LELE A= 6,772,608 7,066,530 N 293,922
4,740,826

609,535
1,422,247

HH W

=06l 23 6,772,608 7,066,530 N 293,922
FANE 2SN 6,772,608,000& 6,772,608
4,740,826

609,535
1,422,247

Mo R

ZOHANFAIE BAHE 23MEH s XN 4,620 4,620 0
1,848
2,772

EUNE

301 Ler2d = 4,620 4,620 0

1,848
2,772

UL

01 Ml2ZE 6= 4,620 4,620 0
FA &t s K&
4,620,000& 4,620

1,848
2,772

B
o
C

HO

tol

M




2A: FUXE
HE: HUNE SXXE
Sl BOHAUSNSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ZOHQUHNFAL S4T VYRS N 24,000 24,000 0
= 9,600
= 14,400
301 LBt A= 24,000 24,000 0
< 9,600
= 14,400
01 AISIE & A %52 24,000 24,000 0
OFEOMAUAHZ=AAY EIAX ANHEHEHRZ XS
24,000,000 24,000
& 9,600
= 14,400
ZHOHQ!I RIS ALS] THEFAIE 29 (2H]) 2,017,381 372,260 1,645,121
307 212t0| & 1,957,181 158,573 1,798,608
05 QIZtR E 2 1,365, 142 158,573 1,206,569
OHOMRAIIEXNRALEH 2| 165,233,000 165,233
OAlZ EoHoIENs &9 1,199,909, 000& 1,199,909
10 AISIEXAIEEHE2IHIEX 592,039 0 592,039
OF2UAESAE 29 137,398,000 137,398
OO THot=EXSAIHAEH 24
129,845,000 129,845
OZofel MEQISANIFHAEH &9
324,796,000 324,796
401 AlEHI 2L 2 0HY| 1,900 0 1,900
01 Al&H| 1,900 0 1,900
OISR AME HHED] X2 A
1,900, 0008 1,900
405 XHAHF S HI 58,300 213,687 A 155,387
01 XAt 2 ZF S| 58,300 213,687 A 155,387
OHOMIIESXNALAH &I 7 12,300
===l 3,250,000& = 2CH 6,500
-=ctel = 3,100,000& 3,100
-2 E 700,000& 700
-2 A 300,000& 300
&1 € HOol=S 1,200,000 1,200
—ZH Xt 500,000& 500
OHM=X 2 &2 46,000,000 46,000
el MO HF=AIE X 72,940 48,885 24,055
& 14,588
= 58,352
307 QI2t0| ™ 72,940 48,885 24,055
& 14,588
o 58,352
10 A SXNANEEHESIGHEX 72,940 48,885 24,055




2A: FUXE
HE: NS =X
Sl BOHAUSNSA CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O HONAAZAE K& 72,940,0008 72,940
=} 14,588
= 58,352
SHONQICHA K& 100,947 89,536 11,411
307 212t01 & 100,947 89,536 11,411
10 MM SAANEEHESIGHEX 64,747 54,336 10,411
O&feIHAEs 2| 64,747,000 64,747
11 A EXAIEE X 36,200 35,200 1,000
OHOMHAIE = 36,200
~&Ooele 10,000,000& 10,000
-SIXNE09 & A & SEti 3
8,000,000 8,000
-S4 e AAX 4,500,000& 4,500
-Hoe fEEsEEA 500,000& 500
-&=2 XXMENC MU 1,000, 0008 1,000
-8=2 WEHMW X=X el 1,000,000 1,000
-==2 e JIsdI Uz 3,000,000& 3,000
—NEHMY FSEMH L AREH BF=US
700,000 700
-M2 2 EHo0etEED] el
500,000& 500
A 2ZEOH FEHUDSE 2 ENUE
7,000,000& 7,000
ZHSB0 NS (S0E ZOHQ FEHEAL) 38,000 38,000 0
= 19,000
= 13,300
= 5,700
307 2Iz2t0| & 38,000 38,000 0
= 19,000
= 13,300
= 5,700
05 QIZ2tREF 2 38,000 38,000 0
OFNHZ20 XN (SHEHOHQFEINZALLY)
38,000,000 38,000
= 19,000
& 13,300
= 5,700
ool AdEE = X 23,808 15,600 8,208
301 YetE A 23,808 15,600 8,208
01 Al E& A 252 23,808 15,600 8,208
OMASEC A2dEEE A&
1,984,000& * 128 23,808
SIS HE A XIS 324,000 319,361 4,639
= 226,800
o=} 29,160




2N
X ZH -
L= B

el

- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2

o 68,040

308 XHXIEHMSOIA 324,000 0 324,000
= 226,800
= 29,160
= 68,040

10 212 SUHUSHE A EAE AT Y| 324,000 0 324,000

OeSMEAMEIA XN (HOHOIS HEXSAIY)

324,000,000& 324,000
= 226,800
= 29,160
= 68,040

Hojeld=z X 4,753,699 4,247,246 506,453
= 3,327,589
& 427,833
= 998,277

301 et A= 4,753,699 4,247,246 506,453
= 3,327,589
= 427,833
= 998,277

01 Al E & A 462 , 753,699 4 247,246 506,453
OHMeA=z X 4.753,699,000& 4,753,699
= 3,327,589
o= 427,833
= 998,277

=& (D1X) 294,144 293,242 902
= 205,901
= 61,770
= 26,473

301 et A= 294 144 293,242 902
= 205,901
&< 61,770
iy 26,473

01 Al B & X 262 294,144 293,242 902
OFMLEH(IIx) 294,144 ,000& 294 144
= 205,901
& 61,770
= 26,473

([ES=g VNI D] 233,573 232,711 862
= 163,501
= 49,050
= 21,022

301 Bt A= 233,573 232,711 862
= 163,501
= 49,050
= 21,022

01 Al E & A 452 233,573 232,711 862
OXMHEEH(XAS) 233,573,000& 233,573




SN FX
Ha: F o
el Zoje

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

163,501
49,050
21,022

Mo

A2

o

PRI JDtAXIS XHED| XT3 ALY 1,200 1,200 0
600
600

Mo

307 21201 & 1,200 1,200 0
600
600

EUNL

ARSI S XA E X 1,200 1,200 0
OAZZOHRIILE JtAXRSSHRED] XI& ALY

1,200,000 1,200

600

600

zal

UL

o esENE 797,488 710,007 87,481
558,241
47,849
191,398

MR

308 MHXItHMS0IH 797,488 0 797,488
558,241

47,849
191,398

M A

3 GicHetZ & A AE AL 797,488 0 797,488
OFE=sXd HE(2sXd3H)

797,488,000 797,488
558,241

47,849
191,398

HH A

o
ol
0
2
k=
e
o
T
iy

r

FIOHXE 18,662 23,241 A4,579

5,599
13,063

UL

308 MHXItHMS0H 18,662 0 18,662

5,599
13,063

EUNE

GicHetZ & A AE AL I 18,662 0 18,662
JHXI& 18,662,000 18,662

5,599
13,063

Mo

e ALSTESAS 10,000 10,000 0

4,000
6,000

M H

307 21201 A 10,000 10,000 0

4,000
6,000

VR

1A S XA E = 10,000 10,000 0
OFfe ALSIESAHY 10,000,000& 10,000
4,000

121

t




2A: FUXE
HE: NS =X
ool HYU=NSA EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| o 6,000
O L 2L SHFIIXNJAALAE 2H 68, 160 58,200 9,960
& 27,264
= 40,896
307 2Iz2to| & 68,160 58,200 9,960
= 27,264
= 40,896
10 M SXAANEEHESIGHEX 68, 160 58,200 9,960
OHMNALUBFEHFIIXNSHEH &Y
68,160,000 68, 160
= 27,264
= 40,896
KNHEBOHEHAAIAL Jx XNSFHEH 2 43,300 43,300 0
307 212t0| & 43,300 43,300 0]
11 A EXAIEE X 43,300 43,300 0
OXHMAEOHQIHEHOIAIE JIx NEHEH 29H
43,300,000 43,300
S EOHCIIIAF = R0 ALY 30,000 30,000 0
307 QI2t0| & 30,000 30,000 0
11 Al EXAIEEX 30,000 30,000 0
OWHEZC JDIAFE R0 AFY 30,000,000 30,000
HAEEOMC XA (LM EAHE) 3,000 3,000 0
= 2,100
= 270
= 630
301 Bt A= 3,000 3,000 0
= 2,100
& 270
= 630
01 Al E & A 452 3,000 3,000 0
OWHE 20l sS4tHIE X 3,000,000& 3,000
= 2,100
& 270
= 630
HAEEMWEAY 40,517 40,040 477
= 28,362
& 4,862
= 7,293
307 QI2t0| ™ 40,517 40,040 477
= 28,362
& 4,862
= 7,293
11T A EXAIEEX 40,517 40,040 477
OWAEZEOHR WAIAS 40,517,000 40,517
= 28,362




SN EOIXE D
HE: NS =X
Sl BOHAUSNSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 4,862
= 7,293
ool E2X 2 29 41,677 39,638 2,039
307 2Iz2t0| A 41,677 39,638 2,039
10 M SXAEEHESIGHEX 41,677 39,638 2,039
O&MeI=EX2 2IXE 41,677 ,000& 41,677
USSP OIERD AleaE XA 960 1,928 A\ 968
2 672
& 86
= 202
308 XAHXIGHSO0|& 960 0 960
=2 672
&< 86
= 202
10 2| 2SHUSHE A XERAEASH] 960 0 960
ogegajeeE Aelad X 960,000 960
2 672
o= 86
= 202
SSHQ NEMESHEH &9 90,000 85,000 5,000
= 36,000
= 54,000
307 QI2t0| ™ 90,000 85,000 5,000
= 36,000
= 54,000
11 Al EXAIEEX 90,000 85,000 5,000
O=ZS&HQ NEMEHdEH 22 90,000,000 90,000
& 36,000
= 54,000
LSS HHO B2FAXNA 5,000 0 5,000
= 4,000
& 300
= 700
301 LBt A= 5,000 0 5,000
= 4,000
& 300
= 700
01 Al E & A 462 5,000 0 5,000
OgdgXoje 22FHXE 5,000,000& 5,000
= 4,000
=} 300
= 700
ZOHRIHZF=AIE LED A X & 31,720 0 31,720
= 15,860
= 4,758
= 11,102




SN FX
Ha: F o
el Zoje

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

402 212t Xt=01& 31,720 0 31,720

15,860
4,758
11,102

HH A

HEX(OIMSA) 31,720 0 31,720
OFOMHAH=AIE LED WM XR  31,720,000& 31,720
15,860

4,758
11,102

HH A

FOAAHNFAIE DIsEL 14,850 0 14,850
7,425
2,228
5,197

Mo A

402 212t A= 01 & 14,850 0 14,850
7,425
2,228
5,197

Mo A

HEZ(OIXMTHE) 14,850 0 14,850
FAE JIsEZ 14,850,000& 14,850

7,425
2,228
5,197

MW

BN Z 2NN AL AAB AL 29,783 0 29,783
5,957
23,826

UL

307 21201 & 29,783 0 29,783

5,957
23,826

EUNE

11 At S XA 29,783 0 29,783
0

ES
OLEHMAZZNASAN - THAAE ALY
29,783,000 29,783
5,957
23,826

EUNE

Ol =AESMHIAXR 45,408 0 45,408
31,785
2,725
10,898

HH A

308 XXM S0l ™ 45,408 0 45,408
31,785

2,725
10,898

HH A

JI2SOtetd &2 E AL I 45,408 0 45,408
PN

45,408,000 45,408
31,785

2,725
10,898

MR




CEH SR (BH) - NBAY - B2 il 2
SEHO HNE SSMHA 54,720 0 54,720
= 38,304
T 3,283
= 13,133
308 AXISHXSO0IH 54,720 0 54,720
=2 38,304
< 3,283
= 13,133
10 SISO USHE A AN E A Y 54,720 0 54,720
OoggddMe 2its sSAHU A 54,720,000 54,720
= 38,304
& 3,283
= 13,133
HE 2L FH| 39,747 39,007 740
JlEdgl (=2 X&) 39,747 39,007 740
Jl23Hl 39,747 39,007 740
201 et A | 32,547 30,807 1,740
01 AP 2t 2l Yl 29,880 28,140 1,740
Oget+=gH| 8,100,000 8,100
O= &l 10,020,000& 10,020
O=AI| Xtz 300,000 = 1CH = 12& 3,600
O8I itz 50,000& = 10§ ~ 128 600
O™ AY ADE FH| 7,560
-ZHZelHy 4,400
- El 440,000 * 10 » 48 x 23] 3,520
S 440,000& * 1CH * 23] 880
-QBtITely 200,000& = 7CH = 23] 2,800
-FAX 120,000 = 104 = 33 360
02 33249l 2,667 2,667 0
Od#HE&EH RXEE=H| 2,667
-CHIIs AR 1] 1,300,000& * 3100 * 5% 2,015
-Tglf 4,000,000& ~ 8O * 2% 640
-FAX 600,000 = 1CH * 2% 12
202 04| 2,400 2,400 0
01 2LHOHI 2,400 2,400 0
FOX2AN SREFE M| 2,400,000 2,400
203 € R =&lY| 4,800 4,800 0
04 2SI L RF=AH| 4,800 4,800 0
ORBNSIgIRF&Y| 400,000 = 12& 4,800




